Derivatives, their meaning and finding equations of tangent lines:

Find the derivative for each
Pg 157 #'s 9-25 odd
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What is the slope of the tangent line when x=2.
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What is the equation of the tangent line to the curve y = 2cosx — sinx at x = Z
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Derivative Rules e ) - Pg 157 #'s 29-43 odd
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What is the slope of the tangent line for each of the following:

a)y = 3x2%sinx at x = % S —
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Implicit Differentiation: Pg 157 #'s 77-81 odd

Find the derivative for;

Sxy = x2 + y?
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Second Derivatives: g #s © 1750

Find the second derivative of each:
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Showing Differentiability:

Check Scubamoose.weebly.com for
Show that function f is differentiable at x=2 examples
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Related Rates Pg 160 #'s 9-11 odd It =+

The volume of a cylinder with radius r and height /4 is given by V = mr2h. The radius and
height of the cylinder are increasing at constant rates. The radius is expanding at a— and the

height at —_ At what rate, in cubic cm per second. Is the volume of the cylmdel mcreasmg:,
when the cylmdel s height 1s 9cm and the radius is 4 cm?
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Other examples.

1) flx)=(x*~5)

a) Write an equation of the tangent to the graph of f at x = 3 <
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2) Given this table
X f(x} f(x) g{x) g'(x)
2 3 1 5 -2
5 4 7 -1 2
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